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!UJ Exams Portal

GENERAL CHEMISTRY | /el area

Question 18

Not yet
answered

Marked out of
10

¥ Flag
question

Time left 0:14:12

How many values are there for the magnetic quantum number when the value of the angular

momentum quantum number is 37

O a
Ob

O c.
O d
O e

14
1
12
7
15
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.UJ Exams Portal
GENERAL CHEMISTRY | /il aren

Question 13 How much heat (in kJ) is produced when 204 6 g of H,S(g) (Molar mass = 34.1 g/mol) are
Not yet oxidized according to
e 2H,Sg) + 305(g) — 2503, + 2H,0g, AH® =-1036 kJ
Marked out of
19 () a. 3108
¥ Flag
auesiion ) b. 2590
) ¢, 2070
() d. 3630
) e. 1550
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'UJ Exams Portal

GENERAL CHEMISTRY | /cnill guen

Question 2

Not yat
answered

Marked out of
10

" Flag
question

A 3.00 g sample of sugar CsHqOs (molar mass= 1500 g/mol) was burmed in excess oxygen in

a bomb calorimeter according to:
CsH100ss) + 502(g) — 5C02(g) + 5H20(I)

If the heat capacity of the calorimeter and its contents was 20.0 kJ/°C, and the temperature

MIETT ™

rose from 25 0 °C to 26.5 °C . calculate AH in kJ/mol for the combustion reaction

O a -1500
O b.-1000
O ¢.-2000
O d.-1200
O e.-3000

-
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GENERAL CHEMISTRY | /caddl ares

Time left 0:50:27

Question 6 A 500-cm® sample of 1.0 M NaOH(aq) is added to 500 cm® of 1.0 M HCI(aq) in a Styrofoam cup,
Not yet and the solution is quickly stirred. The rise in temperature (AT,) 1s measured. The expeniment is
answered repeated using 100 cm?® of each solution, and the rise in temperature (AT,) is measured. What
Marked out of conclusion can you draw about ATy and AT,? HCI(aq) + NaOH(aq) — H,0(l) + NaCl(aq), AH® =
10 -558 kJ

Y Flag

question

O a. ATz is five times as large as AT
O b. AT, s five imes as large as AT
(O ¢ AT, is less than AT,

O d. AT, is equal to AT,.

O e. AT, is greater than AT,

Next page
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'UJ Exams Portal
GENERAL CHEMISTRY | /cxdd) aren

Question 3 Calculate the density of krypton at STP.
Not yet
soswored O a.613glL
Marked out of B
10 O b.761gL
¥ Flag O c.810¢g/L
question
(O d 154¢gL
(O e 3749l
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Question 12

Natsd Oxygen gas, generated by the reaction 2KCIOs(s) — 2KCI(s) + 302(g), is collected over water
F : ‘at 27°Cin a 3.10-L vessel! at a total pressure of 760. torr. (The vapor pressure of H-0 at 27°C
it is 26 0 torr.) How many moles of KCIO3 were consumed in the reaction?

1.0 R =0.0821 L atm mol"' K

¥ Fiag

question ) a. 0.0123 moles

() b. 0.0986 moles
() c¢. 0.354 moles
) d. 00464 moles

() e. 0.0810 moles
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GENERAL CHEMISTRY | /il area

Time left 0:22:34
Question 135 flexible vessel is filled to a certain pressure with 28 00 L of gas. Under conditions of constant
Not yet temperature and moles of gas, how does the pressure of the gas change when the volume of the
answered gas is tripled?
Marked out of
0 () a. The pressure decreases by a factor of four.
V.. 7 b. The pressure decreases by a factor of three.
question

() ¢. The pressure remains the same.
(O d. The pressure decreases by a factor of two.
() e. The pressure increases by a factor of two.
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!UJ Exams Portal

GENERAL CHEMISTRY | /2add) pres

Time left 0:46:58

Question 7 Calculate the change in enthalpy when 52.0 g of solid chromium at 25°C and 1 atm pressure is
Not yet oxidized. (AH®f for Cry04(s) is —1135 kJ/mol) 4Cr(s) + 30,(g) — 2Cry04(s)
answered
Marked out of () a +568 kJ
e () b.-1135k)
¥ Flag
auestion () c. =568 kJ
(O d +1135kJ
() e.-284 kJ
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GENERAL CHEMISTRY | /il ares

Question 8 Which of the following is included as a postulate in the kinetic molecular theory of an ideal gas?
Not yet

awend O a. All molecules move randomly in zigzag directions

Marked out of

10 O b. In an average collision between molecules, both molecules have the same kinetic energy.
::s::n O c. Collisions between molecules are all elastic.

(0 d. All the molecules have the same velocity.

(0 e. The distance between gas molecules is small compared with the size of the molecule

vib

Next page
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Question 7
e set A sample of Nz gas is mixed with a gas (A) of unknown molar mass. The partial pressure of
y

S each gas is known to be 200. torr at 25°C. The gases are allowed to effuse through a pinhole,
and it is found that gas A escapes at 2.3 times the rate of N2. The molar mass of gas Ais:

Marked out of

10

\" Flag

question Oa#3
()b 799
O c.164
()d 529
(e 239
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GENERAL CHEMISTRY | /il ares

Question 3 In a process 455 kJ of heat were evolved and 856 kJ of work were done on the system. Calculate
Not yet AU (kJ) for the system.
answered
Marked out of ) a 601
10
v Fisg O b. 501
— O c. 401
O d. 301
O e. 201
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